[pb/GeV]

T,1

do/dp

Ratio to CMS

=
o
(@]

=
o
(6)]

10%

10?

10

0.5

13000 GeV pp Jets
- T I T I T | I T I T I T I T | T I I T I I |—
B Jet P, (CMS 4-jets) N

..

Ik N =
- m B =
: u ] \\*ﬂ :
B .\5:\%1\ N
L \\‘;5:&. _
| m CMS RN —
=~ o- Pythia 6.428 390 **i;ﬁ\.\ =
—  -.a-- Pythia 6.428 391 T .
- - Pythia 6.428 392 Sog _
|+ Pythia 6.428 396 _
= ---- Pythia 6.428 397 =
— ---¥-- Pythia 6.428 398 -
%_ T T T S S S =
— \\ ' _]
— o\ \ .
— \\\;-w‘ﬁ\éﬁ\ -
- b \\ Fimimo e o= } f;"-’;g _
B e S L S : 4
1 1 1 " | " 1 " 1 1 1 " | " 1 1 " 1 1 " |
100 200 300

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


